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class Systen.Console
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byte a=16; :JGs
a= (byte) (a+10);
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Console WriteL ine (* Sample:{0,5}" ,36); ——— Sample: |:| D l:l 35
—

Oﬂ&wb‘swo

Console.WriteLine (" Sample:{0,5}" ,364); i)Sample: DD 364
-

>9,>
ConsoleWriteLine (" Sample:{0,-5}" ,36); L) Sample: 35|:| l:“:‘
-
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ConsoleWriteL ine (* Sample:{0,-5}" :364); — ", Sample: 364 |[ ]
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Format Specifier
e S ols ke c
(integer) e tb;\ D
oo sl E
b lisl b F
PPy G
Ll o i b 2l el abai N
e ys sy slasl P
sl B X

ConsoleWrite(*{0,1:FH{1,1:F}{2,1:F}",23,23.754,23.755);
Aol 0 2376, 23.75, 23.00 w5 43 79,5
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ConsoleWrite(*{0,1:N}{1,1:N}”,7564.358,7564.352};
39 dalgs 7564.35 5 7564.36 s 5 4 (79,5

03lw (gihio Oyl SO I H9mws ol 53 390 03lil Slygiws Syl 53 (655 presdS (Sl sgiws ol Hif- €lSE Yoty
e SS9 39 2l Sole (ol 5 day Slygiad b giusd Abl ITUE b b o5 0 39d 0 ALirgs b b Olgis 49 S 0 b 9
Dgdsn Ll €198 5l amy Ol ygiws b jgiws sl false b i
Sl s Slygiws b 9 Slise pled 03,5 Li> 4 55 a5 3515 3929 SUK! (o giaels p slaol) o ;35 B
ol 53 3ules IS INSErt SNIPPEL 4335 595 2 d5dien B (2550 (mur§5AS (S0, 23 03,5 Cuwly S Ly diges
s 038 937 OllS I ) Oygo ol 3 awS ol 1y Visual CH# au 38 ol 5l sgiee Jb 6,595 o O pg0
9 039381 (g 98 dali sy )3 Hgiwd U S Ol 9 ABL S ol 511 B3 50 Hgiws S0 Giuled 1) )Ll
S o0 J3 s 23 1y (g3 (a4 Cawl saie sPArSE () sie
osls £03 Parse (¢sssc aiiy)) - sac
:J0s
int X =int.Parse(" 375"); IIx= 375
float y=float.Parse(" 57.62"); lly =57.62
Sedion B s ply Jo a8 plia 53 (S 3,lg sae )l jué I (5340 slassls 39,9 plKia 53 5 5135 W
int a=int.Parse(" 37m5"); :JGo
Abl oo 3ae 4 Jas JBM Oy d9d 00 yalb s
Cawl 535 O yge0 & Kie ol (S S S’ 0 Jodd dae 4 1) Al Parse () e silea aie ol sTryParse () sis
0315 £55 TryParse (Tawm e 4idy yuiio 9 uaio 348 juiie) = OOl g5 )laie
e 33 (34 Hlade g oad plowl i 09y s ol (Adl 33 oSS Julis b (5e Aty juise Hldio o5 0
Blgs o3 Jodd dbly (5342t (5 laie (33 Ay )3 LS 9 dgdb e tTUE Hlaie TIYPArse sin >9,5 9 6,53 Juaie
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:J0s
int x; bool y; string z;
z="35";
y=int.TryParse(z,x); [//Ix=35 , y=true
z="35k";
y=int.TryParse(z,x); //x=0 , y=fase

il ) O yge0 a3 OT IS YKo 45 aiboe I Olojd (o oS Khos ol :dlgw Crolle (3G YSlac
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Aa3n plaled |y sae 5 5853 9 Bl S 8399 Il 332 95 5 4sli s :Jlis
System.Console.Write(" Number 1:");
int a=int.Parse(System.Console.ReadLine());
System.Console.Write(" Number 2:");
int b=int.Parse(System.Console.ReadL ing());
int max=(a>b)?a:b;
System.Console.WritelL ine(max);
B9 I8 4 Osle S it slacdles (w8 Sl s ()l Switch yglws
S oo 03liil il 5l mudd plovil HLSS 51 Gl ) sgiws diz b SO pudlys o5 ,a sails U )))S3 CslygTws
Dedes 1zl asb true pl s while gihie & le Juol> 45 Slaj U 1) Olygiws b ygiws sWhile yolms
230 piales ) 4 6 < slael ) aeb 20
int a=1
while (a<=9)
System.Console.WriteLine(a++);
S o0 3Ll Ay o A Hlaie A3 e Jb oo Giuled A 1o 1al Ggb 4l 5o
LS oo Lzl g 1SS e Slaal w0 |y Olgiws b yeiws for JLVITRY
B850 inled 1) 08 93 3,8 dlael 415 s4sb 5 sl
for (int i=11; i<=99; i+=2)
System. Console WriteLine(i);
Lewl (B yre S S b od puads Ol )laie 4ali s sl Jsb )3 45 Aiiwa o lbawlis Lewt (Constant) lacyB
awl 535 O g0 4

const asls gg3 0 @b = jlsds ;

const int m=50; :J0s
Jolase b 63,09 dil> ] 5w ‘5).5'3 )bﬁ' s Jols o ) ,I)SS 295w d ) blf).h 3(93))93) Jdalals slaadls

B30 OLES 515 D90 43 )b dw b 48 53 9 ks gy 53 1) S 515 g4l i dlie

* % %
* k%
* % % I a
* k%

* % %

for(inti=1i<=5++1)

{
for(int j=1;j<=3;++])
System.Console.Write("*");
System.Console.WriteLine();
}
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alis 5> Shes
\a Llads Gy S obul
\b (Backspace) 1,8 S G
\n (New Line) Jls s S sl
\t tab sl &1 dols K sl
J (') oo 5 S5 S o
v (") i S ils <SG slowl
\ (\) Back slash < sl |

9dige 38 Wb gazr slallis Julds ol 5 Cal ol 555 9 Sz B9, 595 CH# 0Ll
:J0.»
Console.WriteLine(" Hello\t student \ t welcome);
sl 15 g0 43 (529,5
Hello student

welcome
_——————————

wlow S lg2 sloyiuw
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§3,5 o3l (ibogs sl Olgion 4iz 35 IS 51 CH# 0L 4 05lw aal pp S g sl

Notepad+ , Notepad (Y Wordpad , Notepad (\

Wordpad , Notepad+ , Notepad (f Wordpad , Notepad+ (¥
Tz PL plias (slaels 53 stz 5 sgimws oY

P1LTXT CSC.EXE (¥ CSC.EXE PLTXT (A

P1.CS CSC.EXE (f CSC.EXE P1LCS(k
TaToe 3979 41 b ax M1 pliay slasls 2 Jolals L oY
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5% 4 4bbe IDE Gla S o5 525 sloan ;S plos F
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MDI Form (f IDE Form (v ParentForm (v MainForm (\
TS o0 4z dpdin ol sie U 51 B, sz GRdbgi b Dl ygiasd b plia 53 45 (G 4 Y

Tools (f Debugging (¥ IntelliSense (Y List Method (1
TS oo 030kl (2 BAlS b alS a1l oo J515 o INLENliSENSE e 03,5 0l sl oA

Ctrl + space (f Enter (v space bar (Y Tab (A
T35 g0 03kl gin IS 51 dal s (51,21 9 4oz 5 (sl A

Project (f Debug (¥ File (v Run (A
T390 JT4 4l SIKEN gy 2 O9ds 4sli 2 Sdaz 5 9 2l (51 4z 35 plas Yo

Ctrl+F6 (f F6 (v Ctrl+F5 (v F5
Tz Jolio sgimws ez o\

byte  a=100;
a=a+150;
.Jﬂf@ B Y0 slazea yo (N

3,105 51,3 DYLE g9 9 @ puiie Go39450 45 YO+ Sac Upz Ja5 0 Las (Y
Al ool S 5w A e £95 b (oluil 0315 £95 U9 A0 s (¥
sl 033,5 o5liusl = 1 == e (sloms 1y . an3 g0 Las (F
3,5 0 ploml s34y 5 il pl3S Jolio iy 25 4 azgi b Y
byte a=10; int b=8§;

a=atb; (o b=atb; (I
a=at+4; (s a=(byte)a+b (¢
S [ 555." (f S sc 9< (‘“ c 555." (Y ) id” (‘
Sz 1) Olygiwd 29,5 AV
int a=2, b=9;
System.Console WriteLine(" {1}+{0}={2}" ,atb, b, a);
9+11=2 (f 2+11=9 (v 9+2=11 (¥ 2+9=11 (\

Tagdigad o (shoud ssbds g5 plaS 4y ShOrt sosls g5 o\ F
float (f long (¥ byte (¥ int (\
Tadloed e 15 olusl 5l Splas” Jilie slaci o5 4 4295 b N0

int a=4; short b; byte c; sbyte d; long €
e=a; (f d=a; (v c=a; (Y b=a; (\
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52 4 Mgd Joas NG 95 &1 Jaud sobas Ao ) slodiz 35 plas oNF
byte (f ushort (¥ long (Y shyte (\

Sz Jilio Ol ygiws sams Y
int a=(int) 19.99;
System.Console WriteL ine (a);
65 (f A B(y 19 (A
char m=(char) (byte)((char) 65+(char)3);
System.Console.WriteL ine(m);
E(f D (v Ay 68 (A

Sz 1) Slygiwd 29,5 o
int m=20 , n=20;
System . Console . WriteLine (" m={0,10}" ,m);
System . Console . WriteLine (" n={0,-10}" ,n);
m= 20 (f m =20 ¥ m= 20 v m=20(\
n= 20 n= 20 n=20 n=20
933,50 g5 JI5 5L 12 6 55 32 95 g 25 el B szl b Yo
int a=5, b=6;
System . Console .. WriteLine (" {0, -3} {1,2}" ,a,b);

6 (f S(Y 3 (Y 10
Togdien g3 5 Lid iz 695 522 93 g 25 el b sz L oY)
int a=5, b=6;
System . Console . WriteLine (" {0, 3} {1,-2}" ,a,b);

0(f Sy 2(Y 30
(o 2 Sl 5l i 5 @) Taiboo pioled 2 BOgEw 4 )3 FF 9V 5 00 slasas 5 pusl 3 sl=l b WYY
int a=55,b=7,c=44;
System . Console .. WriteLine (" {0,5} {1,-3} {2,4}" ,a,b,c);
AN (F VY &P (Y \Y & P (Y \Y o
Tl gl loasy 357 lo b 43335 plaS” (29,5 YV
int a=57,
System . Console .. WriteLine (" {0,0}" ,a);(\
System . Console. WriteLine (" {0,2}" ,a);(Y
System . Console . WriteLine (" {0,-3}" ,a);(¥
System . Console . WriteLine (" {0,3}" ,a);(f
Tl piules Ogiw plas )3 ALL aidy 115 slo 0l jd =1 ¥F

int a=222 ,b=11; stringc="ALI";
System . Console . WriteLine (" {0,1},{1,6} {2,5}" ,a,b,C);

11 (¢ 12 (v 13y 14 (A
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Ta)15 oge 1y slaiby a> Parse () ax YO

dae 4y abie polie Jooas (Y

int a=int.Parse(" 25k 32"); (Y
int d=int.Parse(" 78+2"); (f

int x;bool y;string z="91";

y = TryParse(z,x);
x=91 ,y=false (¥
x=9 ,y=false (f

int x;bool y;string z="75m3";
y = TryParse(z,x);
x=235y =false (¥
x=0,y=false (f

int x=int.Parse(System.Console.ReadLine( ));
X=(x>0)?X:=X;
System.Console.WriteL ine(x);

oo imled 1) (6399 das 395 (Y

Ao gheled |y (63909 e 3l a8 (f

int Xx=6%4,y=4%6;
X=(X>Y)?X+Y:y*X;
y=(X>Y)?xX%y:y%X;
System.Console.WriteLine(" {0},{1}",x,V);
6,1 (f 6,2 (¥

int a=3

while (a<12)
a=(a%2==0)?a+3:a+5

System.Console.Write(a);

3 811 16¢(f 3811

oy ddae oo (A

e &y 53Ae Auby Jsaw (Y
Tagdig0s dzlge s by g plas P

int b=int.Parse(" 30/2"); (\

int c=int.Parse("5"+"2"); (¥

Sz 1) Olyguwd =l dns Y

x=91 ,y=true (\
x=9 ,y=true (¥

Sz ) Olyguwd =l dms JA

x=35y=true (A
x=0,y=true (¥

B3 sinled 1) (5399 das i (A
a3 s giled 1) (63999 dae sah )8 (Y

Sz 225 sl 79,5 e

8,2(Y 8,0 (

Sz 25 s4abp 79,5 oY)
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Sz 25 sgiwd oz9,5 ¥V
System.Console.WriteLine(" {0, 3: e}",574683);
5.75 (f 5.75e+005 (¥ 5.746830e+005 (Y 5.24 (A
Sz 25 Olygiws o295 FF

System.Console.WriteLine("{0,5: e}", 765348251);
System.Console.WriteLine("{0,5: e}",78154682);

7.653482e + 008 v 7.653483e+ 008
7.815468e+ 007 7.815468e+ 007
7.65348e+ 008 ¢ 7.653483e+ 008
7.8154869¢e+ 007 7.815469e+ 007

Taason hles LolS (goaisSTaz b 5 culi sLiel abis b 1 slael LJG plas PO
N (f X (¥ P G
(ol J5 sLdd i 43 0) Ty 25 s9imwd o9,5 VP
System.Console.WriteLine(" {0, 3: X}",107);
107 O (¢ 0 6B (v 107 (v 6B O (A
Sl gazmo 55 saodel 1 Kpplas Y
const int a=20; (Y const a=20 int; (\
const a=208 int; (f const int a=208; (Y
Tz 125 4al 2 79,5 F'A
int i;
for (i=3i<=20;i=i+b5);
System.Console.Write(i);
Dok on ,all s (F 23 (¥ 3(r 381318 23(
Tabioe pinles OK saolS Hb iz 05 Slygiws szl b F4
for (int i =5;i >=-5;i—=2)

for (int j=1,j<=15;j+=23)
System.Console.WriteLine(" ok");
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